MATH2550
Course Work 3

Find | ey ds where C is th emi-circle of radius 2, centered at (0,0) and running
from (2,0) to (—2,0).

Repeat question 1 with the curve C replaced by a quarter circle of radius 2 running
from (2,0) to (0,2).

Repeat question 2 with the curve € now being the line segment joining (2,0) to (0,2).
Write down the equation of the tangent line to the curve y = 1/x at any point (a,1/a).
Here a is assumed to be a positive number. Then, find (in terms of a) the 2 points where
the tangent line intersects the x —axis, respectively the y —axis. Finally, show that the
areas the right-angle triangle formed by such tangent lines & the two axis is always the
same.

Write down equation of tangent plane to the surface z = xy atthe point x = 1,y = —1.

Find also a unit normal vector to this plane.
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